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CORRECTIONS

Page Reads Should Read
72, last line − 1

2
≤ |f | ≤ 1

2
|f | ≤ 1

2

88, Eq. (3.92),
2nd line

≥ φY (f) ≤ φY (f)

102, Problem 3.18 φ
X̂W

(f) + φ
V̂W

(f) ≥ φY (f) φ
X̂W

(f) + φ
V̂W

(f) ≤ φY (f)

259, Eq. (7.80) Γα(f) ≈ . . . Γ
−1
α (f) ≈ . . .

259, Eq. (7.82) Γα−(f) = . . . Γ
−1

α−
(f) = . . .

280, Problem 7.18,
2nd and 4th lines

Γα(f) ≈ . . . Γ
−1
α (f) ≈ . . .

319, Problem 8.21 is equal to 1 is equal to or smaller than 1

344, Eq. (9.90)









1
−3e−2πfτ0α3,1

3e−4πfτ0α2,1

−e−6πfτ0α2,1

















1
−3e−2πfτ0α3,1

3e−4πfτ0α3,1

−e−6πfτ0α3,1









358, Problem 9.16
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377, Eq. (10.53) hCLS(f) = hLS(f)− . . . hCLS(f) = hLS(f) + . . .

378, Eq. (10.54) hCLS,ǫ(f) = hLS,ǫ(f)− . . . hCLS,ǫ(f) = hLS,ǫ(f) + . . .

393, Problem 10.11 hCLS,ǫ(f) = hLS,ǫ(f)− . . . hCLS,ǫ(f) = hLS,ǫ(f) + . . .

384, Fig. 10.17, replace with the following:
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385, Fig. 10.18, replace with the following:
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385, Fig. 10.19, replace with the following:
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